HAEBILEAMESR

F—SHE KN BHEREMIARR)
ENBMIERINT RS

(B) #M4F4818 (B) HH5FE3H318

(BHAT : M)
WERE FE(A) SRE(B) ER(A)-(B) iz
NERRBLEIRA 408, 649, 769 375,936, 537 32,713,232
EREESHRRA 100, 000 73, 130, 000 73, 030, 000
= ”)f FEFISERL I 1,000 595 405
i ZOMDILA 3,810, 000 4,972, 306 -1,162, 306
& |BEEURAG (1) 412, 560, 769 454,039, 438 41,478, 669
€] | 293, 338, 000 309, 825, 903 16, 487, 903
e = 68, 141, 000 81, 358, 059 13,217, 059
E | PR 29,121,700 28, 254, 649 867, 051
%| |zofoz 2,111,000 1,985, 100 125, 900
BEEHZEH (2) 392, 711, 700 421,423,711 28,712,011
BEFHESNZER (3) = (1) - (2) 19, 849, 069 32,615, 727 -12, 766, 658
?’f ”)f HEREEREINAGT (4) 0 0 0
; HRESEAS TR 0 0
| |[HaEb e BRI RESEAS TSRS 0 0
% ¥ |EEEEIvES T 1,890, 000 4,998, 250 -3,108, 250
; | Tp a2 - -2 EISOEFEH 4,137,320 4,137,320 0
3| |zotoEERRESICLSH 6,426, 994 6, 426, 654 340
| |rEREmEsE (5) 12, 454, 314 15,562, 224 3,107,910
* [iEmempsasEEE (6) = (4) — (5) -12, 454,314 15, 562, 224 3,107,910
o [ enmomsmazt (7) 0 0 0
B
5 |2 | ERESESEASTREERL 6,512, 000 6,512, 000
i |t [zotoEs = St (8) 0 6,512, 000 6,512, 000
& zofoEBESINEERE (9) = (7) — (8) 0 -6, 512, 000 6,512, 000
FiHERH (10) 882, 755 882, 755
WEIRSINTELEAET (11) = (3) + (6) + (9) — (10) 6,512, 000 10, 541, 503 4,029, 503
BIERSIAE SRS (12) 122, 996, 838 122, 996, 838 0
WERSIERES (11) + (12) 129, 508, 838 133, 538, 341 4,029, 503




